4.1.4) e
R R R aRr
——0
2R kg Mg kg ag %
R R R
RS RS A 82 2R = er = R

Sv - Mwog
DV - 3{'1”'1
Sy oo Ry
= VD'_B_R"'?L?
5v
2R//3R 2 2 1
s L Vet Vat B — - DR Vet B L v
8 AR +ag//sh 3 F T 3 * et
R R ) R
Yeo'(' J'R
R
2R 2R R, aR = Voot i*i)J_ R
= = = = 3 AR &3k 5
R¢
_-\NVV\_
_\@ R ag
, Lo sy By
5 % kR 8
82 -
5V 5V
Yot . 2R _3R/A2R ARY/(R43R/AR) 2 & a2 _4
AR AR —°°\+— IRk T3 41 ey _”\'g_vlef:\/m@
R )RR R v R+42R 3RZAR+R  2R//(R+3R//2R)+ 2R
Yout = Vout Ret
2R IR R ar 2 aRe aR

Lab2 Pagina 1



N R 2R R{V
= Sy o=~ HR 4
j: > % 14 ({; _ova Z%- 3R s b
9

AR/ (R43R/2R) (2R// (R+3R/2R) + R) /2R

T Vot . 2R SRR . -
I 7&;‘ R+aR 3RZARER  aR//(R+3R/2RV+ R (ARZ(R+3R//2R)+ R)/R + 2R
Y U _2.6.: Wy
28 ") T 3 11 413 a8 3
LOZO
R, 1 {, )\ R/ A { 1
K( '1—(73+Ib|,)— _{?‘(-(_8_ b1+ 'LTL_Z+I'(>3+ b.,)
rR\c: 2R R(=L1R
Voo~ 2(Lb e Lh L es T4 IS SR A R
o=~ I g Ty Tt 0=~ 3| gty Tt Tty

S.1.1)  Com mepume a Matlib

S.1.1)
Ve R i i
\ , o VedRe R 3Ry 2R 4 b —o
Vanuy Ry 2V, = 7 [ et + b Gakm) +b,g(ﬂ4+a) +b, q(ku»«n)]

Ry= (Ry//2R 4R) /2R 4R

Rg= Ry//2R 4R

_ W Re 1 = 21 E-
8RR N == lr I:b1az+bltla+bﬁzss+b'1511

ey L Ved -k Ra gty (RaR) RB—R]
Voo R %2 3 }:b1 (R‘+1R)RA+ R 4R * 5 R-R, + 2b, R

Ry=2R+(AR/R))
Rp=2R+(2R//R,)

S Rﬂ-:ﬂ ; \( =" R‘f 'Rf [646‘!"- .2.31 36'1 b' ,J:i

Y (RyraR)(R+R.)(R+Rg) " (R, 4R)(Ry+2R)  ~ RydR kR,

Ry = 2R +(2R//Ry)

= 2R + (2R 7 R4

- ’ - o V(‘ 4
S Ry=R: vo‘ %Rf‘(bg +131+b5 b‘fBS;L)

Lab2 Pagina 2



Ry

+b

4'

X, =

Vit - A \ 4 R*Ry 2R R
°oT T 2

'R (Re*R(ReR) (2ReR) 2 Ry (R, RI(R,1aR)

Ry = 2R+ (2R//R,)
Ry = 28+ (2R //R,)

2R+ (lk//RB)

“7')

cr: Voo Vet R 4L Ayt
R (B S

(AV] _ A3
SR="p &> A= o= Ty =6-25w>/

By > 0000 g 111 £ OV g =2y = -3

Lab2 Pagina 3

+ by
Ra(Ry+2R)

TR +R,

)



